Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045



Date	Invoice #
10/22/2019	4775

Bill To	
AGV Corporation 123 N. Main Attica, KS 67009	

Job Date	10/21/2019
Lease In	formation
Busenit	z#1-28
County	Butler
Foreman	DG

		Terms	Net 15
Description	Qty	Rate	Amount
Cement Pump-Surface	1	840.00	840.00
Pump Truck Mileage (one way)	30	4.20	126.00
Class A Cement-94# sack	125	15.75	1,968.75T
Calcium Chloride			220.50T
Gel Bentonite		2000 2000 E	49.35T
Ton Mileage (min. charge)	1	365.00	365.00
Discount on Services		-66.55	-66.55
Discount on Materials		-111.93	-111.93T
	Cement Pump-Surface Pump Truck Mileage (one way) Class A Cement-94# sack Calcium Chloride Gel Bentonite Ton Mileage (min. charge) Discount on Services	Cement Pump-Surface Pump Truck Mileage (one way) Class A Cement-94# sack Calcium Chloride Gel Bentonite Ton Mileage (min. charge) Discount on Services	Cement Pump-Surface 1 840.00 Pump Truck Mileage (one way) 30 4.20 Class A Cement-94# sack 125 15.75 Calcium Chloride 350 0.63 Gel Bentonite 235 0.21 Ton Mileage (min. charge) 1 365.00 Discount on Services -66.55

We appreciate your business!

Phone #	Fax#	E-mail
620-583-5561	620-583-5524	rene@elitecementing.com

Send payment to: Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045

Subtotal	\$3,391.12
Sales Tax (6.5%)	\$138.23
Total	\$3,529.35
Payments/Credits	\$0.00
Balance Due	\$3,529.35

810 E 7TH PO Box 92 EUREKA, KS 67045 (620) 583-5561



Cement or	Acid Field Report
Ticket No	4775
Foreman	David Cordon

Camp	Eureka	
	CUITAG	_

API# 15-019	5-741120	CEN	STREET, STREET	THE RES					CUITAG		
Date	Cust. ID#	Lease	& Well Number		Section	To	wnship	Range	County		State
10-21-19	1368	Busenit	±1-28		28	24	15.		0 11		KS
Customer				Safety	Unit #		Driv		Unit #		Driver
AGV (Corporat	tion		Meeting	105		Jas				_
Mailing Address	,			De De	113		Zfv	1		-	d.
123 A	1. Main			ZA						+	
City		State	Zip Code								
Attica		KS	67009								
Job Type			th 271'		Slurry Vol	33	Slurry	т	ubing		
Casing Depth_		Hole Siz	e _/2'/4"		Slurry Wt/	15"		0	Orill Pipe		
Casing Size & V	vt. 878 2	Cement L	eft in Casing	1/-	Water Gal/SK	6.	5	0	Other		
Displacement_	16 Bb1		ment PSI		Bump Plug to			E	3PM		
Remarks: Sa	fety me	oting. Rig	up to 8 %	Casi	ig. Break	Ci	reula	tion	w/10 Bb	fr	ES 64
water.	Mixed	125 5KS	class A Cer	neat	w/ 3% (clz	, 2%	601 €	15"/991,1	rield	-1.48 =
			w/ 16 Bb1								
			hele coment								
slurry to	pit. 3	sob comp	lete. Rig d	own.							
									12	27	
									<i>3</i>		

Code	Qty or Units	Description of Product or Services	Unit Price	Total
101	1	Pump Charge	840.00	840.00
(107	30	Mileage	4.20	126.00
200	125 SKS	Class A Cement	15.75	1968.75
205	350 [#]	Caclz @ 3%	,63	220.50
206	235 #	Gel @ 2%	,21	49.35
C/08A	5.875 Tons	Ton Mileage - Bulk Truck	m/c	205,00
		Thank You	Sub Total	3,569.60
		6.5%	Less 5% Sales Tax	185.75
Authoriz	ation by	Judd Gulick Title Tool Pusher	Total	3,529.35

TERMS

In consideration of the prices to be charged by Elite Cementing & Acidizing of Kansas, LLC (ELITE) services, equipment and products and for the performance of services and supplying of materials, Customer agrees to the following terms and conditions.

Cash in advance unless satisfactory credit is established. On credit sales, invoices are payable within 30 days of the invoice date. On all invoices not paid within 30 days, Customer agrees to pay ELITE interest at the rate of 18% per annum or the maximum rate allowed by law, whichever is higher. In the event ELITE retains an attorney to pursue collection of any account, Customer agrees to pay all collection costs and attorney's fees incurred by ELITE.

Any applicable federal, state or local sales, use, consumer or emergency taxes shall be added to the quoted price. All process license fees required to be paid to others will be added to the scheduled prices.

All ELITE prices are subject to change without notice.

SERVICE CONDITIONS

Customer warrants that the well is in proper condition to receive the services, equipment, products and materials to be supplied by ELITE. The Customer shall at all times have complete care, custody, and control of the well, the drilling and production equipment at the well, and the premises around the well. A responsible representative of the Customer shall be present to specify depths, pressures, or materials used for any service to be performed.

- (a) ELITE shall not be responsible for any claim, cause of action or demand (hereinafter referred to as a "claim") for damage to property, injury to or death of employees and representatives of Customer or the well owner (if different from Customer), unless such damage, injury or death is caused by the willful misconduct or gross negligence of ELITE, including but not limited to sub-surface damage and surface damage arising from sub-surface damage.
- (b) Unless a claim is the result of the sole willful misconduct or gross negligence of ELITE, Customer shall be responsible for and indemnify and hold ELITE harmless from any claim for: (1) reservoir loss or damage, or property damage resulting from subsurface pressure, losing control of the well and/or a well blowout; (2) damages as a result of a subsurface trespass, or an action in the nature thereof, arising from a service operation performed by ELITE; (3) injury to or death of persons, other than employees of ELITE, or damage to property (including, but not limited to, injury to the well), or any damages whatsoever, irrespective of cause, growing out of or in any way connected with the use of radioactive material in the well hole; (4) well damage or reservoir damaged caused by (i) loss of circulation, cement invasion, cement misplacement, pumping

cement or cement plugs on wells with loss of circulation, including the failure to displace plug to proper depth, (ii) subsurface pressure and resulting failure to complete pumping of cement or cement plug, including dehydration of cement slurry or flashing, plugged float shoe, annulus bridging or plugging, or (iii) down hole tools being lost or left in the well, or becoming stuck in the well for any reason and by any cause. ELITE may furnish downhole tools and may supply supervision for the running and placement of such tools but will not be liable for any damage or loss resulting from the use of such tools. Customer will be responsible for the cost to replace such tools if they are lost or left in the well.

- (c) ELITE makes no guarantee of the effectiveness of any ELITE products, supplies or materials, or the results of any ELITE treatment or services.
- (d) Because of the uncertainty of variable well conditions and the necessity of relying on facts and supporting services furnished by others, ELITE is unable to guarantee the accuracy of any chart interpretation, research analysis, job recommendation or other data furnished by ELITE. ELITE personnel will use their best efforts in gathering such information and their best judgment in interpreting it. Customer agrees that ELITE shall not be responsible for any damage arising from the use of such information except where due to ELITE's gross negligence or willfull misconduct in the preparation or furnishing of it.
- (e) ELITE may buy and resell to Customer down hole equipment, including but not limited to float equipment, DV tools, port collars, type A & B packers, and Customer agrees that ELITE is not an agent or dealer for the companies who manufacture such items, and further agrees that Customer shall be solely responsible for and indemnify ELITE against any claim with regard to the effectiveness, malfunction of, or functionality of such items.

WARRANTIES - LIMITATION OF LIABILITY

ELITE warrants its title to the products, supplies, and materials used or sold to the customer. ELITE MAKES NO OTHER WARRANTIES, EXPRESS OR IMPLIED, NOR ANY WARRANT OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE. ELITE's liability and Customer's exclusive remedy in any claim (whether in contract, tort, breach of warranty or otherwise,) arising out of the sale or use of any ELITE products or services is expressly limited to the replacement of such or their return to ELITE or, at ELITE's option, an allowance to Customer of credit for the cost of such items.

Customer waives and releases all claims against ELITE for any special, incidental, indirect, consequential or punitive damages.

Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045



Date	Invoice #
10/28/2019	4777

AGV Corporation		
123 N. Main		
Attica, KS 67009		
Customer ID#	1358	

Job Date	10/26/2019
Lease In	formation
Busenit	z#1-28
County	Butler
Foreman	DG

			Terms	Net 15
Item	Description	Qty	Rate	Amount
C102	Cement Pump-Longstring	1	1,100.00	1,100.00
C107	Pump Truck Mileage (one way)	30	4.20	126.00
C203	Pozmix Cement 60/40	235	13.40	3,149.00T
C206	Gel Bentonite	810	0.21	170.10T
C215	Cal-Seal (Dynaplast)	940	0.42	394.80T
C205	Calcium Chloride	405	0.63	255.15T
C208	Pheno Seal	470	1.30	611.00T
C201	Thick Set Cement	125	20.50	2,562.50T
C207	KolSeal	625	0.47	293.75T
C208	Pheno Seal	125	1.30	162.50T
C211	CFL-115	30	11.00	330.00T
C691	5 1/2" Guide Shoe	1	175.00	175.00T
C674	5 1/2" AFU Float Collar	1	359.00	359.00T
C504	5 1/2" Centralizer	9	50.00	450.00T
C604	5 1/2" Cement Basket	3	236.00	708.00T
C421	5 1/2" Latch Down Plug	1	242.00	242.00T
C222	KCL	4	30.00	120.00T
C108B	Ton Mileage-per mile (one way)	509.4	1.40	713.16
C113	80 Bbl Vac Truck	3	90.00	270.00
C224	City Water	3,300	0.01	33.00T

Phone #	Fax#	E-mail
620-583-5561	620-583-5524	rene@elitecementing.com

Send payment to: Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045

Subtotal	
Sales Tax (6.5%)	
Total	
Payments/Credits	
Balance Due	

Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045



Date	Invoice #
10/28/2019	4777

Bill To	
AGV Corporation	
123 N. Main	
Attica, KS 67009	

Job Date	10/26/2019
Lease In	formation
Busenit	z#1-28
County	Butler
Foreman	DG

			Terms	Net 15
Item	Description	Qty	Rate	Amount
D101 D102	Discount on Services Discount on Materials		-110.46 -500.79	-110.46 -500.79T

We appreciate your business!

Phone #	Fax#	E-mail
620-583-5561	620-583-5524	rene@elitecementing.com

Send payment to: Elite Cementing & Acidizing of KS, LLC PO Box 92 Eureka, KS 67045

Subtotal	\$11,613.71
Sales Tax (6.5%)	\$618.48
Total	\$12,232.19
Payments/Credits	\$0.00
Balance Due	\$12,232.19

810 E 7TH PO Box 92 EUREKA, KS 67045 (620) 583-5561

123

Displacement 71 Bb1



Cement or Acid Field Report Ticket No. Foreman David Gardner Camp Eureka

Josh

Russ

API# 15-015-24/30 Cust. ID# Lease & Well Number Section Township Range County State 10-26-19 1358 Busenitz 28 KS Safety Customer Unit # Driver Unit # Driver Meeting Jason 105 AGU Corporation DG 112 Steve Mailing Address THU

Sm Rm City State Zip Code Attica 67009 60 Bb1 - Legd Job Type Longstring Hole Depth _2965' K.B. Slurry Vol. 41 Bb) - Tail Tubing Slurry Wt. 13.84 - Lead Casing Depth 2952.94' Hole Size _ 77/8" Drill Pipe _ Casing Size & Wt. 51/2" Cement Left in Casing 41.46' 5.5. 15.50 Water Gal/SK

141

Bump Plug to _1600

Remarks: Safety Meeting, New + Used 51/2" casing set @ 2952.94'. Ris up to water Mixed ZOD SKS 60/40 Pozmix Cement w/ 4% 1% Cacle, 2# Phenoseal/sk@ 13.6 /ggl, yield 1.70 = 60 Bbl Slurry, Start Rotating Casing. Tail Cement -Thick set Cement w/5# Kolseal/sk, 1# Phenoseal/sk, 30 + CFL-115@ 13.8 / gal, vicld = 1.85 = Wash out pump & Lines, Shut down. Release 5/2" Latch Down Plug. Displace plug (KCL in 1st 40 Bbl Displacement water.) Stop Rotating casing @ 1100 PSI. Bump plug to 1600 PSI. Wgit 2 mins. circulation @ all times while cementing. Job Complete. Rigdown

Rat Hole W/ ZO SKS, Plug Mouse Hole W/15 SKS

Displacement PSI _//00

Code	Qty or Units	Description of Product or Services	Unit Price	Total
102	1	Pump Charge	1100.00	1100.00
107	30	Mileage	4.20	126.00
203	235 sks	60/40 Pozmix Cement	13.40	3149.00
206	810#	Gel@ 4%	.21	170.10
215	940#	Calseal @ 4 d/sx) Lead Coment	.42	394.80
205	405#	Caclz @ Z%	.63	255.15
208	470#	Phenoseal@ 2 1/sk	1.30	611.00
201	125 sks	Thick Set Cement	20.50	2562.50
207	625#	Kolseal @ 5#/sk Tail Cement	.47	293.75
208	125#	Phenoseal @ 10/5x	1.30	162.50
211	30#	CFL-115	11.00	330.00
691	1	51/2" Guide Shoe	175.00	175.00
674	1	51/2" AFU Float Collar w/ Latch Down Insert	359.00	359,00
504	9	5/2" x 71/8" Centralizers	50.00	450.00
604	3	5/2" Cement Baskets	236.00	708.00
421	/	5/2" Latch Down Plug	242.00	242.00
222	4 gals	KCL (1st 40 Bbl Displacement water)	30.00	120,00
08B	16.98 Tons	Ton Mileage - Bulk Trucks Sub Total-12,224.96	6) 1.40	713.16
113	3 HRS	80 Bbl Vac Truck Less 5% - 643,80		270.00
224	3300 gals	City Water (6.5% Sales Tax - 651.03)		33.00
Authoriz	ation	A Raberta Title	Total	12.232.19

TERMS

In consideration of the prices to be charged by Elite Cementing & Acidizing of Kansas, LLC (ELITE) services, equipment and products and for the performance of services and supplying of materials, Customer agrees to the following terms and conditions.

Cash in advance unless satisfactory credit is established. On credit sales, invoices are payable within 30 days of the invoice date. On all invoices not paid within 30 days, Customer agrees to pay ELITE interest at the rate of 18% per annum or the maximum rate allowed by law, whichever is higher. In the event ELITE retains an attorney to pursue collection of any account, Customer agrees to pay all collection costs and attorney's fees incurred by ELITE.

Any applicable federal, state or local sales, use, consumer or emergency taxes shall be added to the quoted price. All process license fees required to be paid to others will be added to the scheduled prices.

All ELITE prices are subject to change without notice.

SERVICE CONDITIONS

Customer warrants that the well is in proper condition to receive the services, equipment, products and materials to be supplied by ELITE. The Customer shall at all times have complete care, custody, and control of the well, the drilling and production equipment at the well, and the premises around the well. A responsible representative of the Customer shall be present to specify depths, pressures, or materials used for any service to be performed.

- (a) ELITE shall not be responsible for any claim, cause of action or demand (hereinafter referred to as a "claim") for damage to property, injury to or death of employees and representatives of Customer or the well owner (if different from Customer), unless such damage, injury or death is caused by the willful misconduct or gross negligence of ELITE, including but not limited to sub-surface damage and surface damage arising from sub-surface damage.
- (b) Unless a claim is the result of the sole willful misconduct or gross negligence of ELITE, Customer shall be responsible for and indemnify and hold ELITE harmless from any claim for: (1) reservoir loss or damage, or property damage resulting from subsurface pressure, losing control of the well and/or a well blowout; (2) damages as a result of a subsurface trespass, or an action in the nature thereof, arising from a service operation performed by ELITE; (3) injury to or death of persons, other than employees of ELITE, or damage to property (including, but not limited to, injury to the well), or any damages whatsoever, irrespective of cause, growing out of or in any way connected with the use of radioactive material in the well hole; (4) well damage or reservoir damaged caused by (i) loss of circulation, cement invasion, cement misplacement, pumping

cement or cement plugs on wells with loss of circulation, including the failure to displace plug to proper depth, (ii) subsurface pressure and resulting failure to complete pumping of cement or cement plug, including dehydration of cement slurry or flashing, plugged float shoe, annulus bridging or plugging, or (iii) down hole tools being lost or left in the well, or becoming stuck in the well for any reason and by any cause. ELITE may furnish downhole tools and may supply supervision for the running and placement of such tools but will not be liable for any damage or loss resulting from the use of such tools. Customer will be responsible for the cost to replace such tools if they are lost or left in the well.

- (c) ELITE makes no guarantee of the effectiveness of any ELITE products, supplies or materials, or the results of any ELITE treatment or services.
- (d) Because of the uncertainty of variable well conditions and the necessity of relying on facts and supporting services furnished by others, ELITE is unable to guarantee the accuracy of any chart interpretation, research analysis, job recommendation or other data furnished by ELITE. ELITE personnel will use their best efforts in gathering such information and their best judgment in interpreting it. Customer agrees that ELITE shall not be responsible for any damage arising from the use of such information except where due to ELITE's gross negligence or willfull misconduct in the preparation or furnishing of it.
- (e) ELITE may buy and resell to Customer down hole equipment, including but not limited to float equipment, DV tools, port collars, type A & B packers, and Customer agrees that ELITE is not an agent or dealer for the companies who manufacture such items, and further agrees that Customer shall be solely responsible for and indemnify ELITE against any claim with regard to the effectiveness, malfunction of, or functionality of such items.

WARRANTIES - LIMITATION OF LIABILITY

ELITE warrants its title to the products, supplies, and materials used or sold to the customer. ELITE MAKES NO OTHER WARRANTIES, EXPRESS OR IMPLIED, NOR ANY WARRANT OF MERCHANTABILITY OR FITNESS FOR A PARTICULAR PURPOSE. ELITE's liability and Customer's exclusive remedy in any claim (whether in contract, tort, breach of warranty or otherwise,) arising out of the sale or use of any ELITE products or services is expressly limited to the replacement of such or their return to ELITE or, at ELITE's option, an allowance to Customer of credit for the cost of such items.

Customer waives and releases all claims against ELITE for any special, incidental, indirect, consequential or punitive damages.